Foundation�� � FORMCHECKBOX ��                 �N2a/G�Number���1�There are three cards with numbers on.

The cards are placed to make the number 419.

�

a  i  Write the numbers 4, 1, 9, on these cards to give the highest possible number.

�

	 ii  Write the numbers 4, 1, 9 on these cards to give the lowest possible number.

�

One extra card would be needed to make the number 419 ten times bigger.



b  Write the extra number on this card.

�EMBED Word.Picture.8���



�a)  i)  941

	  ii)  149

b)  0�3��� FORMCHECKBOX ���N2a/G����2�The winning numbers in the National Lottery one week were

49

36

46

39

23

7

Write the numbers in order of size.

Put the smallest one first.



�7, 23, 36, 39, 46, 49�2��� FORMCHECKBOX ���N2a/G����3�Sixty four thousand eight hundred and six people watched a football match.



a  i	  Write this number in figures.

   ii  Write this number to the nearest thousand.



There were 26 431 visiting supporters present.



b	 i	  Write this number in words.

	ii	  Write this number to the nearest hundred.



�a)	i)  64 806

	  ii)  65 000

b)	i)  Twenty six thousand four hundred and thirty one

	  ii)  26 400�4��� FORMCHECKBOX ���N2a/G����4�a	 Write the number 807 in words.



b	 Write the number one hundred thousand and fifty seven in figures.



5342, 2104, 483, 2901, 712



c	 Write these numbers in order. Start with the smallest number.



�a)  eight hundred and seven

b)  100 057

c)  483, 712, 2104, 2901, 5342�4��� FORMCHECKBOX ���N2b/G����5�a  Write down the fraction of this shape that is shaded.

�

b  Add enough shading so that ��EMBED Unknown���of the shape is shaded altogether.



c  Write down the percentage of the shape that is now unshaded.



�a)  3/8

b)  three-quarters shaded

c)  25%

�3��� FORMCHECKBOX ���N2b/G����6�On the number line mark with an arrow the position of the number.

�

i  �EMBED Unknown����EMBED Unknown���

ii	  -2



���2��� FORMCHECKBOX ���N2b/G����7�The temperatures in England, Ireland and Scotland were recorded one day last winter.



�



Here are the results.	

Place	Temperature

England	-2o C

Ireland	5o C

Scotland	-4oC

					

i  Work out the difference in temperature between Scotland and Ireland.

ii  Work out the difference in temperature between Scotland and England.



�i)   9o

ii)  2o�2��� FORMCHECKBOX ���N2b/F����8�The lowest temperatures recorded in Manchester each night for a week are given below.



7°C, -4°C, 3°C, 1°C, -2°C, 0°C, -1°C



a  Write down the temperatures in order. Start with the lowest temperature.



b  Work out the difference between the highest and lowest temperatures.



�a)  -4, -2, -1, 0, 1, 3, 7

b)   7- -4 = 11o�4��� FORMCHECKBOX ���N2b/F����9�Work out 30% of £45.



�30/100 ( 45 = £13.50�2��� FORMCHECKBOX ���N2c/F����10�Write down the value of 

i	34

ii	 �EMBED Unknown���



�i)  81

ii)  9

�2��� FORMCHECKBOX ���N2c/F����11�Write down the value of 

a  �EMBED Unknown���



b  the cube of 4 



�a)  5

b)  64�2��� FORMCHECKBOX ���N3a/G����12�From the numbers in the cloud, 

�

�write down:

i   those numbers that 2 will divide into exactly,



ii  those numbers that 10 will divide into exactly,



iii  the number which is double one of the other numbers.



�i)    12, 20, 24, 30, 100

ii)   20, 30, 100

iii)  24�3��� FORMCHECKBOX ���N3a/G����13�Complete the table for number 272.



� EMBED Word.Document.8 \s ���

�8

4

136 ( 2�3��� FORMCHECKBOX ���N3a/G����14�Write down two different pairs of numbers that multiply together to make 24.



�1×24, 2×12, 3×8, 4×6�2��� FORMCHECKBOX ���N3a/G����15�From the numbers in the rectangle 



�



write down all of the: 

i	odd numbers,

ii	numbers that are factors of 72,

iii	numbers that are multiples of 9,

iv	prime numbers.



�i)    9, 13, 27

ii)   9, 12, 24, 36

iii)  9, 27, 36, 54

iv)  13

�4��� FORMCHECKBOX ���N3b/G����16�Tickets for a concert cost £3 each.

Ramana has £17.



Work out the greatest number of tickets that Ramana can buy.



�17 ÷ 3 = 5 2/3  = 5 tickets�2��� FORMCHECKBOX ���N3a/F����17�Write down the next two prime numbers greater than 13



�17,19�2��� FORMCHECKBOX ���N3f/F����18�Mr. Young sold 254 tickets for the year 11 Disco.

He estimates that each person will drink 2 cans of cola.

The cola is sold in cases of 48 cans.

Write down a calculation that Mr. Young could use to estimate the number of cases of cola that he needs to buy.



�250×2�EMBED Unknown���50�2��� FORMCHECKBOX ���N3c/N3d/F����19�Miss Phillips is organising a trip to London to see the musical "Cats".

195 people decide to go on the trip.

For every 16 tickets that she pays for Miss Phillips is given a free seat.

a	Without using a calculator and showing ALL your working, 

work out how many free seats Miss Phillips will be allowed.



Miss Phillips charges each person £27 to cover the cost of the tickets and the coach fare.

b	Work out the amount of money that should be collected.



The total cost of the trip was £5000.

c	Work out the profit that Miss Phillips will make on the trip.



d	   Express the profit as a percentage of the total cost of the trip.



�a)

�	= 12 seats

b)  195×27 = £5265

c)  5265 - 5000 = £265

d)  265/5000 ( 100 = 5.3%

�9��� FORMCHECKBOX ���N3b/E����20



�Do NOT use a calculator for this question.

You must show all your working.



Work out 453 ( 73.



�    453

(__73

  1359

31710

33069�3��� FORMCHECKBOX ���N3b/N3d/E����21�Mrs. Evans decides to take 863 students on a trip to Euro Disney.

They travel by coach.

Each coach can hold up to 51 students.

In this part of the question you MUST NOT use a calculator.

You MUST show ALL your working

a	Work out the smallest number of coaches Mrs. Evans should book so that all the students can go on the trip.



Each student has to pay £37 for the trip.

745 students decide to go on the trip.

In this part of the question you MUST NOT use a calculator.

You MUST show ALL your working

b	How much money is collected if all 745 students pay £37 each.



The trip actually cost £25 000

c	Use your calculator to work out the percentage loss that Mrs. Evans will make on the trip.



�a)

�	= 17 coaches



b) 	  745 		

	    37

     5215

   22350

   27565               = £27 565



c) [{(b)-25 000 }/25000]×100 = 10.26%

�10��� FORMCHECKBOX ���N3c/E����22�It takes 6 men 8 days to build a wall.

�

All the men work at the same rate.

How long would it take 4 men to build a wall the same size?



�1 man takes 6×8 = 48 days

4 men take 48÷4 = 12 days�3��� FORMCHECKBOX ���N3c/E����23�Mr. Singh shared £20 between his two children in the ratio of their ages.

Narinder is 7 years old and her brother is 3 years old.

Work out how much money Narinder received from her father.



�20÷(7+3)

7 ×2= £14�3��� FORMCHECKBOX ���N3c/E����24�Jugdev pays to see the Tigers.



�

It normally costs £2.40 but there is 20% off the price.

a	Work out how much he pays.



Jugdev then pays to see the Cheetahs.

It normally costs £2.70 but there is �EMBED Unknown���off the price.

b	  Work out how much he pays.



�a)  20/100 × 2.40 = £1.92

b)  2.70 - 1/3 ×2.70

     2.70 - 0.90 = £1.80�3��� FORMCHECKBOX ���N3d/E����25�Cedric buys 12 pencils for £3.48.



�

Work out the cost of 20 pencils.



�1 costs 3.48 ÷ 12

20 costs 3.48 ÷ 12×20 = £5.80

�2��� FORMCHECKBOX ���N3d/E����26�Work out:

a	i  �EMBED Unknown���of £9.60,

	ii  24% of 35 metres.



b	Change �EMBED Unknown��� into 

	i  a decimal fraction,

	  ii  a percentage.



�a)	i) 9.60÷8×5 = £6

	ii) 35×24÷100 = 8.4 m

b)	i) 3÷8 = 0.375

	ii) 3/8×100 or (i)×100 = 37.5%

�7��� FORMCHECKBOX ���N3d/E����27�The same type of training shoes is advertised in three different shops.

�

Work out the cost of the training shoes in each of the three shops.



�Tom (25×17.5÷100) + 25 = £29.38

Pete's 48 - (48÷3) = £32.00

City 40 - (40×25÷100) = £30.00�6��� FORMCHECKBOX ���N3f/E����28�i  Write down two numbers you could use to estimate the answer to 

	793 ÷ 21



ii	 Work out your estimate.



�i)   800 ÷ 20

ii)  40�3��� FORMCHECKBOX ���N3c/D����29�Malika's father won £128.

He shared the £128 between his three children in the ratio 6:3:1.

Malika was given the biggest share.

a  Work out how much money Malika received.



Malika saved �EMBED Unknown���of her share.

b	Work out how much Malika saved.



�a)	6 + 3 + 1 = 10

	128/"10" = 12.8

	6 × 12.8 = 76.8 = £76.80

b)	"76.8"/3 ( 2 = £51.20�6��� FORMCHECKBOX ���N3c/D����30�Frances sees three different advertisements for jeans.



�



Work out the cost of the jeans in each advertisement.

i	Bobs

ii	Disco's 

iii	Sanjay's



�i)   30 - (30 × 15/100) = £25.50

ii)  36 × 2/3 = £24

iii) 22 + (22 × 17.5/100) = £25.85�6��� FORMCHECKBOX ���N4a/G�

���31�Joy works for 35 hours and gets paid £2.50 per hour.

She pays income tax of £3.75 and National Insurance of £1.75.

She earns a bonus of £5.

Work out her take home pay.



�35 × 2.50	= £87.50

	Bonus	=   £5.00 

                     £92.50

Tax & N.I. = £5.50

Take home pay = £87�3��� FORMCHECKBOX ���N4a/G����32�Tickets for a football match cost £4.70 each.

a  How much will 100 tickets cost?



Children can buy tickets at half price.

Mr. and Mrs. Smith and their two children buy tickets.

b  Work out the total cost of the tickets.



�a)  £4.70 × 100 = £470.00

b)  (2 × £4.70) + (2 × £2.35) = £14.10�5��� FORMCHECKBOX ���N4a/G����33�The table below shows part of a train timetable.

�



a  At what time should the latest train leave Newport?



A train arrives in Swindon at 1825.

b  At what time should that train have left London?



Only one train goes to Fishguard Harbour.

c  At what time should this train leave Cardiff Central?



�a)  2250

b)  1730

c)  2206�3��� FORMCHECKBOX ���N4a/G����34�Petrol costs 62p per litre.

Work out the cost of 12 litres.



�62 × 12 = 744 = £7.44�2��� FORMCHECKBOX ���N4a/G/F����35�Here is an extract from a TV programme guide.



� EMBED Word.Document.8 \s ���

a  At what time does Dad's Army start?



b  How long is the Baywatch programme?



James wishes to record Dalziel & Pascoe. He uses a new 3 hour tape to record the programme.

c	  How much time will be left on the video tape after he has recorded Dalziel & Pascoe?  Give your answer in minutes.



�a)  6.35pm

b)  6.30 - 5.40 = 50 mins

c)  180 - (9.40 - 8.05) = 85 mins�5��� FORMCHECKBOX ���N4a/F/E����36�The diagram below shows a metal box. The box is a cuboid.



�



a	Work out the volume, in m3, of the box



Shiftem deliver these boxes in the UK.

They charge £28.85 for each m3 of a box's volume.

b	Work out Shiftem's charge for delivering one of these boxes.



The weight of a box is 0.125 tonnes.

c	Write 0.125 tonnes in kg.



Le Goff deliver these boxes to Paris.

They charge 7.92 French francs for each kg.

d	Work out Le Goff's charge, in French francs, for delivering one of these boxes.



�a) 3 × 2 × 0.5 = 3 		(F)

b) "3" × 25.85 = 77.55	           (F)

c) 0.125 × 1000 = 125		(F)

d) "125" × 7.92 = 990	        (E)�7��� FORMCHECKBOX ���N4a/E����37�Michelle goes to France for her holiday.

She changes £80 into French francs.

The exchange rate is £1 = 9.50Ff

How many French francs should Michelle receive?



�9.50 × 80 = 760Ff

�2��� FORMCHECKBOX ���N4a/E����38�It normally takes Sylvie 20 minutes to drive to work.

One day Sylvie has to drive at half her normal speed.

How long does it take her to drive to work on that day?



�20 × 2 = 40 mins�2��� FORMCHECKBOX ���N4a/E����39�Mustapha pays Income Tax at 22%.

He is allowed to earn £3 500 before he pays any Income Tax.

He earns £12 500 in one year.

Work out how much Income Tax he pays in that year.



�12500 - 3500 = 9000

9000 × 22 ÷ 100 = £1980�3��� FORMCHECKBOX ���N4a/D����40�Fatima has 35 CDs and tapes.

The ratio of the number of CDs to the number of tapes is 3:4

Work out how many CDs she has.



�35/(3 + 4) (= 5)

3 × 5 = 15 OR 3/7 × 35 = 15�3��� FORMCHECKBOX ���N2b/N4a/G����41�a  Work out the cost of 5 Breakfasts.



�



Dara buys some cups of tea.

b  Work out the greatest number of cups of tea she can buy with £5.



A child's meal cost �EMBED Unknown���of the price of Today's Special.

c  Work out the cost of a child's meal.



�a)  5 ( 2.95 = £14.75

b)  500 ( 80 or 480 or 6 rem 20 or 6.25 = 6 cups

c)  7/10 of £4 = 40p ( 7 = £2.80�6��� FORMCHECKBOX ���N4a/N3b/F����42�A teacher is organising a trip to Pleasureland. There are 560 pupils going on the trip. The pupils will go by coach.

Each coach can carry 52 pupils.

a  Work out how many coaches are needed.



45% of the pupils are boys.

b  Work out the number of boys going on the trip.



The number of teachers needed on the trip is found by using this formula:

Number of teachers on the trip equals "the number of pupils divided by 25 and rounded down to the next whole number".

c  How many teachers are needed on the trip?



Do NOT use your calculator for part (d) of this question. Show all your working.

Each pupil pays £14 to go on the trip.

d  Work out the total amount paid by the pupils.



�a)  560 ÷ 52 = 10.76 =11 coaches

b)  560 × 45/100 = 252

c)  560 ÷ 25 = 22.4 = 22 boys

d)  560 × 14 = £7840�10��� FORMCHECKBOX ���N3b/N4a/N4c/E����43�John is going to Spain on holiday.

�



He changes £190 to Spanish pesetas.

£1 = 183 pesetas.

a	i	Work out how many pesetas John gets.

	ii	Write your answer to part (i) correct to 3 significant figures.



IN THIS PART OF THE QUESTION YOU MUST SHOW ALL YOUR WORKING 

The holiday costs £621.

John has to pay the £621 in 27 equal weekly amounts.

b	i	Without using a calculator, work out how much he must pay each week.

	ii	Write down an approximate calculation you could use to check your answer.

	  iii	Work out the answer to the approximate calculation



�a)	i)   183 × 190 = 34770

	ii)  34 800

b)	i) �EMBED Unknown���27�EMBED Unknown����EMBED Unknown���= 23

	ii)   600�EMBED Unknown���30

	iii)  20�6��� FORMCHECKBOX ���N3d/N4a/N4d/E����44�The diagram represents the surface of a lake in winter. The lake is shaded on the grid.

�



a	Estimate the area, in cm2, of the diagram that is shaded.



Each square on the grid represents a square with sides of length 100m.

b	Work out the area, in m2, represented by one square on the grid.



c	Estimate the area, in m2, of the lake.



In summer the area of the lake decreases by 15%.

d 	Work out the area ,in m2, of the lake in summer.



�a)  11 cm2

b)  100 × 100 = 10000m2

c)  10000 –– 11000 m2

d)  (b) × 85/100; OR (b) - (b) × 15/100�                                  = 93500 m2�7��� FORMCHECKBOX ���N3d/N4d/D����45�Some oil is spilt. The spilt oil is in the shape of a circle. The circle has a diameter of 12 centimetres. 

�

a  Work out the circumference, in cm, of the spilt oil. Give your answer correct to 1 decimal place.



The diameter of the spilt oil increases by 30%

b  Work out the new diameter, in centimetres, of the spilt oil. 



�a)    2 × ( × 6 or ( × 12 = 37.7 cm

b)  12 × 130/100;

     12 + 12 × 30/100 = 15.6 cm�5��� FORMCHECKBOX ���A2b/G�Algebra���46�The diagram shows a "Subtract 4" machine.

�

Use the machine to complete the table.

�



�5, 18, 33

�3��� FORMCHECKBOX ���A2b/G����47�Here is a number pattern.

Two numbers are missing.



6,	 12,	18	....	....	36.



a Write in the missing numbers.



b Describe, in words, the rule that you used to find the missing number in the pattern.



�24, 30

add six to the previous number�4��� FORMCHECKBOX ���A2b/G����48�This number square has some numbers missing.

�



a Write the missing numbers in the number square.



b Describe the number pattern in the shaded column.



�a)  24/21 28 35/32

b)  eight times table�3��� FORMCHECKBOX ���A2b/G����49�a Write down the next two numbers in this number sequence.



	1, 7, 13, 19, 25, ....., .....



b  Write down a number in the sequence that divides exactly by 5.



�a) 31, 37

b) 25�3��� FORMCHECKBOX ���A2b/G/F����50�Here are some patterns made out of matchsticks.



�



a  Draw a diagram of pattern number 4.



b  Complete the table to show the number of matchsticks needed for pattern number 4 and pattern number 5.

�

c	Work out the pattern number that needs exactly 41 matchsticks.



d  i  How many matchsticks are needed for pattern number 100?

   ii  Describe how you found this answer.



�a)  pattern 4 drawn	          (G)

b)  17, 21			          (G)

c)  10			          (F)

d)  i) 401

     ii) ( 4 + 1 (in words)           (F)�7��� FORMCHECKBOX ���A2b/F����51�Below is a number sequence.



28,  25,  22,  19,  16,  ......



a	Write down the next two numbers in this sequence.



b    Describe how you found your answers in part a. 



�a) 13, 10

b) take 3�3��� FORMCHECKBOX ���A2c/F����52�The diagram shows a conversion graph between Pounds (£) and German Deutschmarks (DM)

�



Use the graph to write down how many

i	Deutschmarks can be exchanged for £10,



ii   Pounds can be exchanged for 14 Deutschmarks.



�i) 22 DM

ii) £6.40––£6.50�3��� FORMCHECKBOX ���A2b/E����53�Here are the first five numbers in a simple number sequence.



1, 3, 7, 13, 21, ....., .....



a	Write down the next two numbers in the sequence.



b	Describe, in words, the rule to continue this sequence.



�a) 31, 43

b) add multiples of 2 in order to the �previous number		�4��� FORMCHECKBOX ���A2b/E/D����54�a	Write in the missing numbers in the following sequence.



2,  5,  8,  11,  14,  .....,  .....,  23,



b	 Work out the 12th number in the sequence.



c    Work out an algebraic expression for the nth  term in the sequence.



�a) 17, 20		                     (E)

b) 12 × 3 - 1 = 35                    (E)

c) 3n - 1 	                    (D)�6��� FORMCHECKBOX ���A2d/E/D����55�a	Complete this table of values for y = 3x - 1.
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b	Draw the graph of y = 3x - 1 on the grid below.

�



c	Use your graph to find:

     i   the value of x when y = 3.5

     ii  the value of y when x = -1.5



�a) -7, -4, 2, 5			(E)

b) pts plotted, line drawn	(D)

c)	y = 3.5 ( x = 1.5

	x = -1.5( y = -5.5		(D)�6��� FORMCHECKBOX ���A2d/D����56�a	Complete the table of values for the graph of

	y = 2x + 3

� EMBED Word.Document.8 \s ���

b	Use the values to draw the graph on the grid below.

�



�x -3, -2, -1, 0, 1, 2, 3

y    , -1,    ,  3,   , 7, 9�2��� FORMCHECKBOX ���A3b/G����57�Maureen thought of a number. She divided this number by 4. She then added 3. �Her answer was 9.

What number did Maureen think of?



�9 - 3 = 6

6×4 = 24�3��� FORMCHECKBOX ���A3b/F����58�Cheryl was working out the cost of hiring a van for a day.

First of all she worked out the mileage cost.

She used the formula



Mileage Cost = Mileage Rate × Number of Miles Travelled



The mileage rate was 8 pence per mile.

Cheryl travelled 240 miles.

a	Work out the mileage cost.



Then she worked out the total hire cost.

She used the formula



Total Hire Cost = Basic Hire Cost +Mileage Cost



The basic hire cost was £35.

b   Work out the total hire cost.



�a) 240 × 8 = £19.20

b) 35 + "19.20" = £54.20�3��� FORMCHECKBOX ���A3b/F����59�A coach has x passengers upstairs and y passengers downstairs.



�

a	Write down an expression, in terms of x and y, for the total number of passengers on the coach.



Tickets for the journey on the coach cost £5 each.

b	Write down an expression, in terms of x and y, for the total amount of money paid by the passengers on the coach.



�a) x + y

b) 5(x + y)�2��� FORMCHECKBOX ���A3d/G����60�Lindi thought of a number.

She multiplied the number by 5.

Her answer was 30.

What number did Lindi think of?



�30�EMBED Unknown���5 = 6

�2��� FORMCHECKBOX ���A3a/b/c/F/D����61�The diagram shows two straight lines AB and CD.

�



Each line is cut into sections.

The length, in centimetres, of each section is shown in the diagram.

a	Write down, in terms of d,

	i	the length of AB,

	ii	the length of CD

 

The length of AB is equal to length of CD

b	i	Write down an equation in d.

	ii	Solve your equation to find the value of d.



�a)	i) 2d + 3 + 2d  = 4d + 3

	ii) d + 5 + d + 5 = 2d + 10 (F)

b)	i) 2d + 3 + 2d = d +5 + d + 5 

        4d + 3 = 2d + 10

	ii) 4d - 2d = 10 -3

         2d = 7 so d = 3.5     (D)�6��� FORMCHECKBOX ���A3b/F����62�Buns cost 25 pence each.

Write down an algebraic formula to work out the cost C of b buns. 



�C = 25b�2��� FORMCHECKBOX ���A3b/E����63�a	Write, in symbols, the rule

	"To find y, multiply k by 3 and then subtract 1"



b	Work out the value of k when y = 14.



�a)    y = 3k - 1

b)   3k - 1 = 14

      3k = 14 + 1 = 15 so k = 5�5��� FORMCHECKBOX ���A3c/E����64�Simplify

i	2x + 3x

ii	h × h × h × h × h

iii	2m × 3n

iv	2(x + 3) = 5(x - 3)



�i)    5x

ii)   h5

iii)  6 mn

iv)   7x - 9�5��� FORMCHECKBOX ���A3d/E/D����65�Solve the equations

a	3y + 7 = 28



b	2(3p + 2) = 19



�a)   3y = 21 so y = 7                 (E)

b)   6p = 15 so p = 2.5              (D)

�4��� FORMCHECKBOX ���A3b/D����66�Bhavna uses this formula to work out her Electricity bill.

Cost of Electricity = Number of units used × Cost for each unit + Meter hire

Bhavna uses 350 units

The cost for each unit is 7.5p

The Meter hire is £15.50.

Work out the cost of Bhavna's Electricity bill.



�350 × 7.5 + 15.50 = £41.75�3��� FORMCHECKBOX ���A3c/D����67�a	Write down and simplify an algebraic expression for the perimeter of this triangle.



�



b	Write down and simplify an algebraic expression for the perimeter of this rectangle.



�



�a)   a + 1 + a + 2 + a + 3 = 3a + 6

b)   2(2b + 3) + 2(3b - 1) = 10b + 4�5��� FORMCHECKBOX ���A3d/E/D����68�Solve the following equations:

i	3p + 5 = 29

ii	5(q - 3) = 25

iii	6r - 5 = 7 - 2r



�i)    3p = 29 - 5

      3p = 24, p = 8                   (E)

ii)   5q - 15 = 25; q = 8           (D)

iii)  8r = 12; r = 1.5                (D)�6��� FORMCHECKBOX ���A3d/D����69�The perimeter of this triangle is 31 cm.



�



Work out the value of c.



�2c - 3 + 2c + 3 + 4c - 5 = 31

8c - 5 = 31

8c = 36; c = 4.5�4��� FORMCHECKBOX ���A3d/E/D����70�a	Solve 3x = 24



b	Solve 18 + 3y = 6 - y.



�a)   x = 8                                  (E)

b)   3y + y = 6 - 18

      4y = - 12; y = -3                 (D)�4��� FORMCHECKBOX ���A2b/F/D����71�Rods can be fixed together using bolts.

The diagrams show rods fixed together to form a pattern of hexagons in a row.





�



a	Complete the diagram below to show how rods can be fixed together to form a pattern of 4 hexagons in a row.

�

b   Complete the table

� EMBED Word.Document.8 \s ���

�a)   Draw 3 more hexagons	(F)

b)   18, 22, 26, 30 in a table	(D)



�5��� FORMCHECKBOX ���A2d/A3b/E����72�The width of the rectangle is x cm.

The length of the rectangle is 4 cm more than the width.



�



a	Write down an expression in terms of x for the length of the rectangle.



The perimeter of the rectangle is P cm.

b	Write down a formula for P in terms of x.



The table gives the value of P when x = 6.

�

c	Complete the table for x = 2, 4 and 8.



d	On the grid below draw the graph of P against x for values of x from 2 to 8.

�



�a)   x + 4

b)   p = x + 4 + x + 4 + x + x = 4x + 8

c)   p = 16  24  (32)  40

d)   graph plotted�6��� FORMCHECKBOX ���S2a/G�Shape���73�Explain how shape E is different from the other shapes.



�



�E is triangle; rest are quads; all E's angles acute�2��� FORMCHECKBOX ���S2a/G����74�Write down the mathematical name of each of the following shapes.



�



�Isosceles triangle

Right angled triangle

Parallelogram

Trapezium�4��� FORMCHECKBOX ���S2a/G����75�Write down the mathematical name of each of the following solid shapes.





�



�Cube

Cuboid

Triangular prism�3��� FORMCHECKBOX ���S2a/G/F/E����76�Here is a net of a prism.



�



a	Mark, with a P, a line that is parallel to the line AB.



b	Mark, with an X, a line that is perpendicular to the line AB.



c	Make an accurate drawing of the net.



d    Sketch the prism. 



�a)   P on parallel line	  (G)

b)   X on perpendicular line	  (G)

c)   Accurate net drawn.  Any attempt to trace the original net gets no marks.	   (F)

d)   Triangular prism drawn.	(E)�7��� FORMCHECKBOX ���S2c/G����77�Draw in all the lines of symmetry for each of these shapes



�



�i)   kite has 1 line of symmetry

ii)  rectangle has 2 lines of symmetry�3��� FORMCHECKBOX ���S2c/G����78�Draw a circle around each of the signs which have line symmetry.



�



�circle 2, 4, 6 (numbering across)�2��� FORMCHECKBOX ���S2c/G����79�Draw in all the lines of symmetry on each of the following flags.



�



�1 line of symmetry;  2 lines; 1 line�4��� FORMCHECKBOX ���S2c/G����80�Draw a circle around each of the shapes that have rotational symmetry.



�



�Circle 1, 4, 5�3��� FORMCHECKBOX ���S2d/G����81�Here are five shapes.



�



a	Write down the letters of the shapes that have a right angle.



b	In which way are shapes B and D different from shapes A, C and E?



�a)   A, B, D

b)   B and D have a curved edge�4��� FORMCHECKBOX ���S2a/d/G����82�PQ is a horizontal line.



�



On the diagram above mark

a	a different horizontal line with a letter H



b	an acute angle with a letter A



c	an obtuse angle with a letter O.



�a)    horizontal line marked H

b)   acute angle marked A

c)    obtuse angle marked O

�3��� FORMCHECKBOX ���S2c/F����83�a	Draw in all the lines of symmetry on the following shapes.



�



b	Write down the order of rotational symmetry for the

	i rectangle

	ii parallelogram



�a)	i) 2 correct lines drawn

     ii) no lines drawn

b)	i) 2

     ii) 2

�4��� FORMCHECKBOX ���S2c/F����84�The diagram represents a prism.

Draw in one plane of symmetry of the prism on the diagram.



�



��

�2��� FORMCHECKBOX ���S2d/F����85�a	i   Work out the value of x in the diagram below.

	ii Give a reason for your answer.



�

b	i   Work out the value of y.

	ii Give a reason for your answer.



c	i   Work out the value of z.

	ii Give a reason for your answer.



�a)  i) 78º

     ii) angle on a straight line

b)  i) 130º

     ii) angles in a triangle, or in any �4-sided shape

c)  i) same as b)i) = 130º

     ii) (vertically) opp., X-angles�6��� FORMCHECKBOX ���S2d/F����86�



�

AC = BC

AB is parallel to DC

Angle ABC = 52º

a	Work out the value of

	i  p

	ii q



The angles marked pº and rº are equal.



b    What geometrical name is given to this type of equal angles?



�a)	i) p = 52

     ii) q = 180 - (52 + 52)

           = 180 - 104 = 76

b)  Alternate�4��� FORMCHECKBOX ���S2d/F����87�In the diagram below, work out the size of:

i	angle ABC 



ii	angle ABD

�



�i)  180 - (72 + 44) = 64º

ii) 180 - (i) = 116º�3��� FORMCHECKBOX ���S2c/d/F����88�a	Write down the order of rotational symmetry of the shape.





�



b	On the diagram mark and label

	i	an acute angle with a letter A,

	ii	a reflex angle with a letter B,

	iii	an obtuse angle with a letter C. 



�a)   3

b)   Either A, B, C written within the arcs of the angle or vertex marked A, B, C with arcs drawn correctly�4��� FORMCHECKBOX ���S2c/E����89�Draw in one plane of symmetry on this shape.

�



�One of:

��2��� FORMCHECKBOX ���S2b/D����90�Karl's and Eleanor's school is near a busy main road.

They decide to carry out a survey of the different types of vehicles that travel on the main road.

Design a suitable data sheet so that they can collect their data easily.



�Vehicle type more than 1

Tally

Frequency�3��� FORMCHECKBOX ���S2d/D����91�a	The diagram below shows a quadrilateral



�



Work out the size of the angle marked aº.



b	The diagram shows a regular hexagon.



�



Work out the size of the angle marked bº.



c	The diagram shows a regular octagon.



�



Work out the size of the angle marked cº.



�a)	360 - (120 + 85 + 93)

	360 -298 = 62

b)	360 ÷ 6 = 60

c)    90 + 45, 180 - 45 or 3 × 45 or 2 × 67.5 �= 135�6��� FORMCHECKBOX ���S3a/G����92�a	Write down the co-ordinates of the points

	i	P

	ii	Q



�



b	On the co-ordinate grid mark and label the points

	i	G with co-ordinates (0, 3)

	ii	H with co-ordinates (5, 4)



�a)	i) P (1, 5)

     ii) Q (4, 0)�2��� FORMCHECKBOX ���S3a/G����93�The diagram shows the positions of some places in a village.





�



a	Which place is South of the Library?



b	Write down the compass direction of

	i	the Library from the Post Office,

	ii	the Post Office from the School,

	iii	the Garage from the Supermarket.



�a) garage

b)	i) East

	ii) SW

	iii) SE�4��� FORMCHECKBOX ���S3a/G����94�Helen is standing at H.  She is facing North.



�



She turns anticlockwise through 1 right angle.

a	In what direction is she now facing?



Later Harry stands at H.  He faces South.

He turns clockwise through 1 ½ right angles.

b	In what direction will he then be facing?



�a)  West

b)  NW or WN�2��� FORMCHECKBOX ���S3d/G����95�Make an accurate drawing of a rectangle 8 cm long and 4.5 cm wide.



�Rectangle 8 cm long and 4.5 cm wide�3��� FORMCHECKBOX ���S3a/F����96�The position of some large towns are shown by dots on this map.

�



a	Write down the name of the town that is

	i	West of London,

	ii	due South of Newcastle.



b	Write down the compass bearing of

	i	London from Bristol,

	ii	Birmingham from London.



�a)	i) Bristol

	ii) Birmingham

b)	i) East

	i) NW or North West�4��� FORMCHECKBOX ���S3b/F����97�Reflect these shapes in the Mirror lines.



���

�4��� FORMCHECKBOX ���S3c/F����98�Show how this shape will tessellate on the grid below.



�



The first one has been drawn in for you.

You should draw at least 8 shapes.



�



�Give marks for any tessellation. Full marks for 8 or maore shapes drawn.�3��� FORMCHECKBOX ���S3a/F/E����99�The diagram is part of a map showing the positions of several towns.



�



a	Which town is due West of Luton?



b	Write down the approximate compass direction of Nottingham from Cardiff.



c	Measure and write down the bearing of Manchester from Nottingham.



�a) Cardiff	                  (F)

b) NE	                  (F)

c) 308º	                  (E)�4��� FORMCHECKBOX ���S3a/E����100�San Fernando is on a bearing of 157º from Pasadena.



�

Draw this bearing accurately on the diagram above.



�Bearing of 157 degrees is drawn.�2��� FORMCHECKBOX ���S3c/E����101�The shape shown can be used to tessellate the inside of the rectangle shown.



�



Show, on the grid below, how this shape tessellates.



�



�Tessellation ignore axes�2��� FORMCHECKBOX ���S3d/E����102�Rashmi uses a map with a scale of 1 to 50 000.

She measures the distance between two points on the map.

The distance that Rashmi measures on the map is 8.2 cm.

Work out the actual distance between the two points

Give your answer in kilometres.



�8.2 × 50 000 ÷ 100 000 = 4.1 km�3��� FORMCHECKBOX ���S3a/d/E/D����103�The scale drawing below shows the positions of an airport tower, T, and a radio mast, M.



1 cm on the diagram represents 20 km.



�



a	i	Measure, in centimetres, the distance TM.

	ii	Work out the distance in km of the airport tower from the radio mast.



b	i	Measure and write down the bearing of the airport tower from the radio mast.

	ii	Write down the bearing of the radio mast from the airport tower.



A plane is 80 km from the radio mast on a bearing of 220º.



c	Plot the position of the plane, using a scale of 1 cm to 20 km on the scale diagram.



�a)  i) 5 cm		

    ii) "5" × 20 = 100 km	(E)

b)  i) 060º

    ii) 180º + "60º" = 240º	(D)

c)  plane plotted 4 cm from mast  (D)�     bearing  of 220º	   (E)�8��� FORMCHECKBOX ���S4a/G����104�Isobel can swim the length of a pool in 20 seconds.

She swims 20 lengths.

a	Work out how long, in seconds, it takes Isobel to swim 20 lengths.



b	Change your answer to a to minutes and seconds.



�a)   20 × 20 = 400 s

b)   400 ÷ 60 = 6 min, 40 s�3��� FORMCHECKBOX ���S4a/G����105�Hamish arrived at the train station at the time shown on the clock.



�



a	Write down the time shown.



The train arrived 30 minutes later.

b	Draw the hands on the clock face below to show the time when the train arrived.



�





c	Write this time as it would be shown on a 24 hour clock

	i	in the morning

	ii	in the evening. 



�a)   Ten to 6; 05:50, 17:50 or 5:50 am or 5:50

b)   Twenty past six shown

c)  i)   06:20 (0620)

    ii)   18:20 (1820)�4��� FORMCHECKBOX ���S4b/G����106�The picture shows the scale on the side of a kettle.

�

How many litres of water are needed to fill 5 cups?



�1.1 litres

�2��� FORMCHECKBOX ���S4d/G����107�a	Find the area, in cm2, of the shape.



�

b	Find the perimeter, in cm, of the shape.



�a)   17

b)   20�2��� FORMCHECKBOX ���S4d/G/F����108�a	Work out the perimeter of the whole shape ABCD.



�



In part  b you must write down the units with your answer.



b	Work out the area of

	i	the square EBCD,

	ii	the triangle ABE.



�a)   40 + 40 + 50 + 70 = 200        (G)

b)  i)   40 × 40 = 1600 m2

     ii) (40 × 30) ÷ 2 = 600 m2           (F)�7��� FORMCHECKBOX ���S4a/F����109�This is a conversion graph for litres and gallons.



�



Use the conversion graph to convert

i   4 gallons into litres,

ii  27 litres into gallons.



�i)    18 litres

ii)   6 gallons�2��� FORMCHECKBOX ���S4b/d/D/F����110�1 cm represents 10 km.

An earthquake has its centre at the centre of the circle shown in the scale drawing and affects everywhere inside the circle.



�



a	Find the actual radius, in kilometres, of the circle affected by the earthquake.



b	Calculate the area affected by the earthquake.  Give your answer in km2 correct to the nearest whole number.



�a)   radius is 2.8 cm. 2.8 × 10 = 28 km	 (F)

b)    ( × (a)2  = 2463 km2	                       (D)�6��� FORMCHECKBOX �������111�In this question you must write down the units of your answer.



�



a	Work out the area of the base of the solid shape.



b	i   Work out the volume of the solid shape.

	ii  Write this volume in litres. 



�a)    20 × 10 = 200 cm2

b)    i) 20 × 10 × 15 = 3000 cm2

      ii) 3000 ÷ 1000 = 3 litres

�7��� FORMCHECKBOX ���S4d/D����112�The diagram shows a circle of diameter 70 cm inside a square of side 70 cm.

 

�

Work out the area of the shaded part of the diagram.

Give your answer correct to 3 significant figures.



�A = (r2 = ( × 35 × 35 = 3846.5 (3.14), 3850 (22/7), 3848.9 (3.14), 3848.4 (() 70 × 70 = (4900) "4900" - "3850"

A = 1050 cm2�6��� FORMCHECKBOX ���S4d/D����113�Here is a side view of a swimming pool.

ABCD is a horizontal straight line. AH, BG, CF and DE are vertical lines.



�



a	Write down the mathematical name for the quadrilateral BCFG.



b	Work out the area of quadrilateral BCFG.



�a)   trapezium

b)   5.3 ( 1.2 + ½ ( 0.9 (5.3

      OR ½ (1.2 + 2.1) ( 5.3

      area = 8.745 m2�5��� FORMCHECKBOX ���S4d/D����114�Mary has a circular dining table with a radius of 0.65 m.



�



a	Work out the area of the top of the table.  Give your answer to 3 significant figures.



The perimeter of the circular tablecloth is 5m.

b	Work out the diameter of the tablecloth.



�a)   ( × 0.65 × 0.65 = 1.33 m2

b)   D = 5 ÷ ( = 1.59 m�6��� FORMCHECKBOX ���S2d/S3a/S4d/G/F����115�a	Write down the co-ordinates of the points

	i    P

	ii   R.



�



b	On the co-ordinate grid above, plot the following points

T (1, 2),	V (4, 1)



c	Using your ruler, find the perimeter, in centimetres, of the quadrilateral PQRS.



d	Measure and write down the size of angle P.



�a)	i) P (4, 6)

	ii) R (9, 0)   (G)

b)   points plotted  (G)

c)   PQ = 4.1; QR = 5.1; RS = 10.8; SP = 4.0; perimeter = 24.0 cm  (F)

d)   166º   (F)�9��� FORMCHECKBOX ���D2a/G�Handling Data���116�The table shows the cost of some of Gino's pizzas.

�



� EMBED Word.Document.8 \s ���

a	Write down the cost of a Deep Pan Regular Vegetable pizza.



Alberto spent £5.45 on a pizza.

b	Which pizza did Alberto buy?



�a)   £2.95

b)   Medium, thin crust supreme�3��� FORMCHECKBOX ���D2a/G����117�Millie carried out a traffic survey.

She wrote down the make of each of the first 25 cars that entered the school car park.

Here are her results



� EMBED Word.Document.8 \s ���

a	Design and draw a suitable data collection sheet that Millie could have used to collect her data.



b	Use your data collection sheet to record the total number of each make of car that entered the car park.



c	Use your data to draw a suitable graph to show this information. 



�



�Make	Tally	Frequency

Volvo			4

Fiat			3

Ford			7

Rover			6

Honda			2

Vauxhall	3�10��� FORMCHECKBOX ���D2c/G����118�Zeeshan counts the number of vowels in a sentence.  The results are shown in the table.

Draw a bar chart to show this information.



�



�Bars drawn

Heights 14, 17, 8, 9, 6�2��� FORMCHECKBOX ���D2c/G����119�The bar chart shows the number of hours Jason spent watching television in one week.



�

a	Write down the day on which he watched most television.



b	Work out the total number of hours he spent watching television during the week.



�a) Saturday

b) 3 + 4 + 2 + 2 + 5 + 1 = 17�3��� FORMCHECKBOX ���D2c/f/G����120�The pictogram shows the number of golfers who played at the local golf club last week.



�



a	How many golfers played on Sunday?



b	How many golfers played on Monday?



On Tuesday 35 golfers played

c	Complete the pictogram to show this. 



�a)   80 golfers

b)   50 golfers

c)    1 and 3/4 balls drawn �3��� FORMCHECKBOX ���D2d/G����121�Ten teams took part in a quiz.

Their scores are shown below.



15, 13, 17, 11, 14, 15, 16, 15, 16, 8.



Work out the mean score.



�140/10 = 14�3��� FORMCHECKBOX ���D2f/G����122�A travel agent has printed out details of holidays in August.
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�a	Write down the name of the hotel at complex Picafort.



b	Which hotels have 7-night holidays for under £300?



c    Which hotels have 14-night holidays costing between £320 and £390, and also have a children's club?



�a)   Tonga

b)   Pins, Arcos Playa

c)   Bougauvilla Park, Siesta�5��� FORMCHECKBOX ���D2f/G����123�The diagram below is part of a pictogram.

The pictogram shows the number of lorries which crossed the North Sea by ferry during a week in 1996.



�



a	How many lorries crossed the North Sea by ferry?



On the Friday 300 lorries crossed the North Sea by ferry.

b	Complete the pictogram to show this information.



�a)   450

b)   3 lorries drawn

�3��� FORMCHECKBOX ���D2a/d/f/G/F����124�There are 50 pupils in each of the groups, Year 9, Year 10 and Year 11 at Lucea High School.

A survey was carried out to find how many pets these pupils owned.

The results are shown in the table below.



�



a   How many pupils in Year 10 own no pets?



b   How many of the pupils own exactly 2 pets?



c   What is the most common number of pets owned by pupils?



d   Which year group owns the least number of pets?  Use the figures to explain your answer.



�a)   5	                                      (G)

b)   14 + 19 + 6 = 39	                 (G)

c)   1	                                      (F)

d)   year 11. The total no of pets is the smallest.	                            (F)�6��� FORMCHECKBOX ���D2a/c/F/G����125�Aisha measured the heights of the 30 students in her class.

The measurements are all written correct to the nearest centimetre.

Here are the results she obtained.



Aisha uses a tally table to record her results in groups of 5 cm starting at 161 cm.



a Complete the tally table for Aisha's data.



� EMBED Word.Document.8 \s ���

b On the grid below draw a bar chart of Aisha's results.



�



�a)	161 to 165	8

	166 to 170	6

	171 to 175	4

	176 to 180	8

	181 to 185	4                                     (F)

b)   bar chart with heights: 8, 6, 4, 8, 4      (G)�7��� FORMCHECKBOX ���D2a/c/F����126�Robin had a holiday job packing cheese.

Each pack of cheese should weigh 500 grams.

Robin had 30 packs of cheese.

Robin checked the weights, in grams, correct to the nearest gram.

These are the results.



	512	506	503	506	499

	499	500	504	502	503

	496	497	497	509	506

	499	497	498	507	511

	498	491	496	506	507

	493	496	503	510	508



a	Complete the grouped frequency table for the weights. Use class intervals of 5 g.



� EMBED Word.Document.8 \s ���

b	On the grid draw a frequency diagram to represent the data.



�



�a)	Tallies

	Frequencies 2, 11, 6, 8, 3

b)	Draw frequency diagram with heights 2,  11,  6,  8,  3

�6��� FORMCHECKBOX ���D2a/c/F����127�Patrick carried out a survey of 45 pupils in Year 11.

He asked how many books they had borrowed from the library in the last month.

These are Patrick's results.



�



a Complete the frequency table. 
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b	Construct a pie chart to show this information.



�



c  What fraction of the group had borrowed 6, 7 or 8 books?



�a)   11, 15, 13, (6)

b)   angles 88º, 120º, 104º, 48º

c)   13/45 or 104/360 or 0.29 �9��� FORMCHECKBOX ���D2c/F����128�The pie chart shows how Jenny spends her monthly income.

�



Jenny spends £150 a month on food.

a	Work out Jenny's monthly income.



b	Work out how much rent Jenny pays each month.



�a)   £150 × 4 = £600

b)   120 ÷ 360 × "£600" = £200�5��� FORMCHECKBOX ���D2a/D����129�In a town 1800 cars were stolen in a year.  The table shows information about the times of day when they were stolen.

� EMBED Word.Document.8 \s ���

This information can be shown in a pie chart.

a	Work out the angle of each sector of the pie chart.

� EMBED Word.Document.8 \s ���

b	Construct the pie chart in the circle below.



�



c	What fraction of the number of cars was stolen between Midday and 6pm?

Write your fraction in its simplest form.



�a)   140º, 16º, 56º, 94º, 54º or answers that round to.

b)   Sectors drawn, ft from (a).  If it fits overlay than (a) & (b) gets 3 + 3 or 3 + 2 dep. on labels and non-contradicting table.

c)   289/1800 =7/45�8��� FORMCHECKBOX ���D2f/D����130�Fred is conducting a survey into television viewing habits.

One of the questions in his survey is

"How much television do you watch?"

His friend Sheila tells him that it is not a very good question.

Write down two ways in which Fred could improve his question.



�Specify a period of time, e.g. “How much television do you watch in a day?”

Include some options such as 0-5 hours, 6-10 hours etc.

�2��� FORMCHECKBOX ���D2f/D����131�50 pupils are going on an educational visit.  The pupils have to choose to go to one of the theatre or the art gallery or the science museum.

23 of the pupils are boys.

11 of the girls choose to visit the theatre.

9 of the girls choose to visit the art gallery.

13 of the boys choose to visit the science museum.

� EMBED Word.Document.8 \s ���

a	Complete the table.



b	How many of the girls choose to visit the science museum?



�a)

� EMBED Word.Document.8 \s ���

b) 7

�4��� FORMCHECKBOX ���D2f/D����132�Information about oil was recorded each year for 12 years.

The table shows the amount of oil produced (in billions of barrels) and the average price of oil (in £ per barrel).

� EMBED Word.Document.8 \s ���

a	Draw a scatter graph to show the information in the table.



�

b	Describe the correlation between the average price of oil and the amount of oil produced.



�a)   3

b)   1�4��� FORMCHECKBOX ���D2c/f/D����133�The table lists the weights of twelve books and the number of pages in each one.
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a	Draw a scatter graph to show the information in the table.

�



b	Describe the correlation between the number of pages in these books and their weights.



�a)   points plotted

b)   High positive, good accept description of relationship�4��� FORMCHECKBOX ���D2c/f/D����134�Joe has twelve cars for sale.

The scatter diagram shows the ages and prices of the twelve cars.



�

Joe buys five more cars to sell.

The table lists the ages and prices of these cars.

� EMBED Word.Document.8 \s ���

a	Plot this information on the scatter graph.



b	Describe the correlation between the ages of these seventeen cars and their prices.



�a)   points correctly plotted

b)   negative�3��� FORMCHECKBOX ���D3a/G����135�Thelma rolls a normal dice with faces numbered from 1 to 6.



�

On the probability line below mark with a

i	E the probability of scoring an even number.

ii	T the probability of scoring a ten.

iii	S the probability of scoring a number less than 7.

�



��

�3��� FORMCHECKBOX ���D3d/F����136�In a game you spin an arrow.  The arrow stops on one of sixteen equal sectors of a circle.  Each sector of the circle is coloured.  The probability scale shows how likely it should be for the arrow to stop on any one colour.



��



Shade these circles to show how many sectors should be

i	coloured red		ii	coloured blue



�



�i)   six sectors shaded

ii)  8 sectors shaded�2��� FORMCHECKBOX ���D3a/d/F/E����137�Peter and Asif are both taking their driving test for a motor cycle for the first time.

The table below gives the probabilities that they will pass the test at their first attempt.
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a	Write down the probability that Asif will pass the test at the first attempt.



b	Work out the probability that Peter will fail the test at the first attempt.



c	Explain clearly why Asif is more likely to pass the test at the first attempt than he is to fail at the first attempt.



�a)   0.7			(F)

b)  1 - 0.6 = 0.4 		           (E)

c)	P(pass) + P(fail) = 1

	since P(pass) > 0.5 then P(pass) > P(fail)	                                          (E)�5��� FORMCHECKBOX ���D3a/E����138�A game in an amusement arcade can show the following pictures.

The fraction under each picture shows the probability of the picture being shown at the first window.

�



Calculate the probability of the game not showing a Bar at the first window.



�1 - 1/12 = 11/12

accept 4/12 + 2/12 + 3/12 + 2/12 = 11/12�2��� FORMCHECKBOX ���D3d/E����139�22 coloured balls are used to play a game of snooker.

15 of them are red and the rest have different colours.

One of the balls is chosen at random.

Write down the probability that the ball chosen will be

i	red,

ii	not red. 



�i)   15/22

ii)  7/22�3��� FORMCHECKBOX ���D3e/E����140�A fair coin is tossed and a fair dice is thrown.

One possible outcome is (Heads, 4).

List all the possible outcomes.



�H1, H2, H3, H4, H5, H6

T1, T2, T3, T4, T5, T6�2��� FORMCHECKBOX ���D3/a/c/f/E/D����141�A fair dice is to be thrown.

a	Write down the probability of the dice landing on

	i    a six

	ii   an even number



A second dice is to be thrown.

The probability that this dice will land on each of the numbers 1 to 6 is given in the table.
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The dice is to be thrown once.

b	Calculate the value of x.



c	Calculate the probability that �the dice will land on a number higher than 3.



�a)	i) 1/6

	ii) 3/6		                                      (E)

b) 1 - (0.2 + 0.1 + 0.3 + 0.1 + 0.2) = 0.1	                           

                                                                 (E)

c) 0.3 + 0.1 + 0.2 = 0.6	                           (D)

�7��� FORMCHECKBOX ���D3a/D����142�Alison, Brenda, Claire and Donna are the only runners in a race.

The probabilities of Alison, Brenda and Claire winning the race are shown below.
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Work out the probability that Donna will win the race.



�1 - (0.31 + 0.28 + 0.24) = 0.17

�2��� FORMCHECKBOX ���D3c/e/D����143�A packet contains only yellow counters and green counters.

There are 8 yellow counters and 5 green counters.

A counter is to be taken from the packet at random.

a	Write down the probability that

	i	a yellow counter will be taken,

	ii	a yellow counter will not be taken.



A second counter is to be taken from the packet.

b   Write down all the possible outcomes of taking two counters from the packet.



�a)	  i) 8/13 or 0.62...

       ii) 1 - "8"/13 = 5/13 (or 0.38..)

b)   (y, y) (y, g) (g, y) (g, g)�4��� FORMCHECKBOX ���D2f/D3a/G����144�A box contains sweets of different colours.

The bar chart shows how many sweets of each colour are in the box.



�



a	How many red sweets are in the box?



b	How many blue sweets are in the box?



c	i	Which colour sweet is most likely to be taken?

	ii	Explain you answer to part i. 



�a) 30

b) 15

c)	i) yellow

	ii) there are more yellow than any other colour�4��� FORMCHECKBOX ���D2d/e/D3a/G����145�Here are the numbers of people living in the different houses in a short road.



4, 2, 3, 4, 5, 1, 3, 2



a	Work out the mean number of people per house.



b	Work out the range of the number of people living in a house.



One of the houses is to be chosen at random.

c	On the probability line below, mark with a letter X the probability that the house chosen will be the one with 5 people.



�



�a) 4+2+3+4+5+1+1+3+2  = 3

		    8

b) 5 - 1 = 4�6��� FORMCHECKBOX ���D2c/D3e/G����146�Here is a pictogram to show the number of students that had a cooked meal in the school canteen one week last winter.



�



a	How many students had a cooked meal on

	i      Monday

	ii    Wednesday

	iii   Tuesday



On Friday 45 students ate a cooked meal.

b	Show this information on the pictogram.



Angelo rolls a six faced dice numbered from 1 to 6 and throws a coin at the same time.

c	Write down a list of all possible combinations that could occur.



�a)	i) 60

	ii) 50

	iii) 55

c)	H1, H2, H3, H4, H5, H6

	T1, T2, T3, T4, T5, T6�7��� FORMCHECKBOX ���D2e/D3a/F����147�The table shows the bus fares paid by some pupils to travel to school.
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a	Write down the range of these bus fares.



One of these pupils is to be chosen at random.

b	What is the most likely bus fare of the chosen pupil?



c	Mark with an X on the number line below the probability that the chosen pupil pays a 40 pence bus fare.



�



�a)  60 - 35 (= 25)

b)  35

c)  Mark X 1/8 along line from O�3��� FORMCHECKBOX ���D2d/D3d/F����148�Hemlata measured the lengths of 12 different leaves that she collected for a Science experiment.

Here are her results.



15 cm, 12 cm, 9 cm, 10 cm, 9 cm, 7 cm

14 cm, 10 cm, 8 cm, 9 cm, 12 cm, 6 cm



a	For the leaves Hemlata collected work out the

	i	mean,

	ii	mode,

	iii	range,

	iv	median.



b	Write down the probability that a leaf chosen at random from Hemlata's collection has a length

	i	equal to 10 cm,

	ii	less than 10 cm.



�a)	i) 10.083

	ii) 9

	iii) 9

	iv) 9.5

b)	i) 1/6 

	ii) ½ �10��� FORMCHECKBOX ���S4b/N3c/G�Integrated questions���149�The diagram shows some potatoes on a set of scales.



�



a	Write down the weight of the potatoes.



Fred buys some apples.

They weigh 3.65 kilograms.



�



b	Draw a pointer showing 3.65 kilograms on the scales.



c	Work out the approximate weight of the apples in pounds.



In part d you must write down the units with your answer.

The apples cost 99p per kilogram.

d	Work out the total cost of 3.65 kg of apples.



�a) 1.9 kg

b) pointer at 3.65

c) 3.65 ( 2;  between 7 - 8.2 inclusive

d) 99 ( 3.65 = £3.61�8��� FORMCHECKBOX ���A2d/S4d/G����150�a	Write down the co-ordinates of the point

	i    A

	ii   B.

�



b	On the grid plot and label the points

	C (3, 4) and D (3, 2).



c	Work out the area of the shape ABCD.



�a)   A (1, 0) b( 1, 4)

b)   pts plotted at (3, 4), (3, 2)

c)   6�5��� FORMCHECKBOX ���H2a/N3d/N4a/D/G����151�The table below shows the monthly payment for an insurance scheme.

The payments depend on the age at which a person starts paying.

There are two rates, Standard Rate and Discount Rate.
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Alison is aged 17.  She pays the Standard Rate.

a	i   Write down Alison's monthly payment.

	ii   Work out the total amount Alison will pay in a year.



Mr Masih pays at the Discount Rate.

He pays £19.89 each month.

If he were one year older, he would pay £35.19 each month.

b	How old is Mr Masih?



The standard monthly payment for an insurance scheme for Tom is £7.20.

This is reduced for the Discount monthly payment to £6.12.

c	Work out the percentage reduction.



�a)	i) 12.60

     ii) "12.60" ( 12 = 151.20		(G)

b) 59	                                           (G)

c) (7.20 - 6.12) ( 7.2 = 1.08 ( 7.2 (= 0.15) 0.15 ( 100 = 15%

OR  6.12 ( 7.2 (= 0.85) 0.85 ( 100 = 85, �100 - 85 = 15%	                                (D)�8��� FORMCHECKBOX ���A2b/N2d/F����152�Mr McDonald is making sheep pens.  He uses fences to make pens as shown in the diagram below.  The pens are arranged in pairs in a row.



�

a	Draw diagrams to show the number of fences needed for

	i    8 pens,

	ii   10 pens.



b	Explain how you could work out the number of fences needed for twelve pens, without drawing a diagram.



c	Complete the table.
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d	Work out the number of fences needed for 30 pens.



�a)   Completed diagrams

b)   Add on 5 to previous;

c)   22, 27, 32, 37, 42

d)   Any appropriate method shown

�8��� FORMCHECKBOX ���A2d/S3b/F/E����153�a	Write down the coordinates of the point

	i    A

	ii   B

�



b	Write down the mathematical name of the shape ABCD.



c	On the grid below enlarge ABCD by a scale factor of 2.

�



�a)	i)   (-2, 0)

	ii)   (1, -1)	                            (F)

b)   parallelogram	                 (E)

c)   enlargement sf 2 drawn	(E)�6��� FORMCHECKBOX ���S2c/D3d/D����154�Here is a frequency table of the animals on Mr McDonald's farm
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 a	Draw a fully labelled pie chart to show this data



�



An animal is chosen at random from Mr. McDonald's farm.

b	What is the probability that the animal

	i	is a pig,

	ii	is a horse,

	iii	has four legs?



�a)	Animal	Angle

	Hens		45

	Sheep		120

	Cows		156

	Pigs		30

	Geese		9

b)	i) 1/12

	ii) 0

	iii) (80 + 104 + 20)/240 = 17/20
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